Honors Chemistry: Bonding 2 Problem Set- Covalent Bonding
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1. In each pair of bonds, put a star (¥ ) next to the more polar bond and use an arrow (+—) to show the
direction of polarity in each bond.

ag C—0O0 and C—N c) B—O and B—S
by P—Br and P—CI d B—F and B—lI

2. For each of the bonds listed below, indicate (+—) which atom is the more negatively charged.
a) C—N b) C—H c) C—Br d S—O

It is somewhat artificial to classify bonds based on the differences in the electronegativities (AEN; Ax) of the
two atoms. However, we will use these ranges to do so:

lonic Ax>1.7 (symbolized as A" and Z)
Polar Covalent 1.7>Ax > 05 (symbolized as A>" and Z%)
Pure Covalent Ax <05 (no charges)
3. For each of the bonds listed below, classify each bond and indicate full or partial charges, if any.
a) Na—-cCl e) Mg—H
b) Cc—O f) Cs—F
) Cu—0 g  Cl—CI

d C—H hy  Al—Cl




